CS490 Windows Internals

Solutions to Quiz 09/24/2012
1. What is the role of the Windows kernel?
a) Abstract differences among CPU architectures
b) Provide low level synchronization primitives 

c) Perform thread scheduling decisions
d) All of the above
2. Windows has its roots in a number of operating systems. Which OS did not 

contribute to Windows?
a) VMS
b) MS-DOS
c) IBM OS/360
d) Unix
3. What do environment subsystems NOT do?
a) Interface to native Windows system calls
b) Define process & file system semantics
c) Service interrupts
d) All of the above
4. What is the role of the HAL? 

a) Prevent drivers from accessing hardware directly
b) Make all CPUs look the same to device drivers
c) Provide a portable interface to the motherboard
d) Provide access to the I/O system bus
5. Which dynamic link library (DLL) in Wow64 is used to manage thread contexts?

a) Wow64.dll

b) Wow64cpu.dll

c) Wow64win.dll

d) 64-bit ntdll.dll

6. User mode contains components below except:

a) Windowing and graphics

b) Service processes

c) Environment subsystems

d) System support processes
7. Kernel mode is used to protect a process from:

a) Corrupting operating system memory

b) Corrupting another process’ memory

c) Being corrupted by the operating system

d) Being corrupted by another process
8. Windows is not a true microkernel because:

a) The kernel is more than 100kb in size

b) It does not run on handheld devices

c) It is not based on Mach

d) All kernel mode components share the same address space
9. Windows’ multiprocessor support is called:
a) Parallel

b) Mirrored

c) Symmetric

d) Asymmetric
10. Which dynamic link library (DLL) is the interface to the native Windows API?

a) NTDLL.DLL

b) Kernel32.dll

c) NtNative.dll

d) NtOSkrnl.exe

